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11 S |None 6CXS-3 500 3NN4 430 930 14 NS140 -12 -7
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13 | N |Both 3NE4 630 3NE5 660 30 1 EW530 -3 4
14 | E |None 5HXE-2 300 S5HXW-2 300 NS140 4 -4
15| S NS 4SW6 480 5SXW5 650 170 5 EW530 2 3
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w3 IMP| 22 |15 10 | -10
/‘_ v
[ 1 T4 ¥ &K 10 R
* B IMP 22 15
&+ NP 22 15 ;
2 HVP 12.77 7.23
5t




9 |

12EE<E 2RIpERF IR &

[ 9]

NS 345 agi(R0) 2 T bl 2 1 2 NS #zm #2&(F0)
EW #&2a 222030 a e EW R#s Fixk(RO)
B# | DL | & 2R WEE ES A%EREA COP Datum
1
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10| E |Both| 2SE4 170 3SE3 140 30 1 EW120 | -2 1
11| S |None|  3NN5 460 5CS-1 50 | 510 1 NS140 | 8 5
12| W | NS 6CE6 920 3NW5 460 460 10 EW500 | -9 -
13| N |Both| 5DE5 600 3NE4 630 | 30 1 EW530 | -2 3
14| E |None| 4HE-1 50 S5HXE-2 | 300 250 6 NS140 | -3 -4
15| S | NS 4SW6 480 5SXW6 750 | 270 7 EW530 | 2 6
16| W | EW 4SN4 420 5CN-1 50 | 470 10 NS150 | 7 5
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9 | N|EW| acw-2 | 200 3NE4 630 | 830 13 NS20 | 5 12
10 | E |Both| 2HS2 110 3NE-2 | 200 90 3 EW120| 6 -8
11| S |None| 5cs5 400 3NN-1 50 | 450 10 NS140 | 6 5
12| W | NS | 3Nws 460 ANWS5 460 EW500 | 1 -
13| N |Both| 3NE4 630 3NE4 630 EW530 | -3 3
14 | E |None| 5HXW-2 | 300 5HXW-2 | 300 NS140 | 4 4
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10 E |Both 4SE4 620 4SE-2 200 820 13 EW120 -11 -8
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11| s |None| 5CS-1 50 3NS4 430 480 10 NS140 | -5 7
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16| W|EW| 5Cxs5 | 550 6SS-2 100 | 650 12 NS150 | 9 6
#3t IMP|33 |38 9 | 1
VA VA AJ I -
% 6 BEAA 7 fgpAi i3
* B IMP 33 38
£ 3 IMP 33 38 5
# 3-VP 7.95 12.05
5t




2 - - <
9 | 1R EZ 2RABERFLIRE | Q9+ =
1A
NS #3% mEk=(R0) 9 T bl 6 1 1 NS mz2 %53 (20
EW s s #63ka (P0) apie EW #3257 i 34~(R0)
B# | DL | & Py k] MWEE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | 2¥zu% | NS | EW | #9 [ #11 | #9 [#11] #9 [#11 || Mean | Ns EW
9 N | EW 2SS-2 100 2SS2 110 210 5 NS20 -3 -3
10 E |Both 3SE4 170 2HS2 110 280 7 EW120 -2 -6
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10 E |Both 3HS-1 100 3SE3 140 40 1 EW120 1 1
11 S [None 3NN4 430 6CXS-3 500 930 14 NS140 7 12
12| W | NS 3NW5 460 6CE-1 50 510 11 EW500 1 -11
13 | N [Both 3NE5 660 3NE4 630 30 1 EW530 -4 3
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12| W | NS ANW5 460 3NW5 460 EW500 | 1 -
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13 | N |Both 6NE-2 200 1DN-5 500 700 12 EW530 12 -1
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14 | E |None 5HXE-2 300 5DXN-2 300 600 12 NS140 4 10
15| S | NS 5SXW5 650 4SXW6 790 140 4 EW530 -3 6
16 | W | EW 6SS-2 100 5CXS5 550 650 12 NS150 -6 -9
w2t [MP|38 |33 -1 9
B 7 Fadn (7 6 R AR
* B IMP 38 33
&3+ NP 38 33 ;
# 3-VP 12.05 7.95
5t




2 [T A =
9 | 12 EF 2RABERFIRE | 9 8
1A
NS mz232 #3230 1 1 T bl 6 9 NS #3% mE= (R0
EW #&3%% i 3d~(R0) a e EW g #ves (FO)
B# | DL | & #% MEZ cME ik REAA | COP Datum
1
R £Hz2% | NS | EW | 2x%22% | NS | EW | #11 | #9 [#11] #9 [#11] #9 Mean | NS EW
9 N | EW 2SS2 110 2SS-2 100 210 5 NS20 3 3
10 E |Both 2HS2 110 3SE4 170 280 7 EW120 6 2
11 S |None 6CS-2 100 3SXW-2 300 400 9 NS140 -6 -4
12| W | NS 4NW6 490 6CW6 920 430 10 EW500 9
13 | N |Both 5HW5 650 3NE4 630 20 1 EW530 -3 3
14 E |None 4HE-1 50 5DXN-2 300 350 8 NS140 -3 10
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9 N | EW 2SS-2 100 3CwW-1 100 200 5 NS20 -3 -2
10 | E |[Both 4SE4 620 4SE-1 100 720 12 EW120 -11 -6
11 S |None 6HXS-1 100 5CS-1 50 50 2 NS140 -6 5
12 | W | NS 3NE6 490 6CE-1 50 540 11 EW500 -11
13 | N |Both 1NXN-3 800 3NE4 630 170 5 EW530 -7 3
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